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A - Social Distancing

Solved by gxforever.
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#include <bits/stdc++.h>
using namespace std;
typedef long long 11;
typedef pair<int,int> pii;
const int maxn=1e4+23;

struct Point
int x,y;
Point(int x=0,int y=0):x(x),yl(y
bool operator < (const Point &b
x<b.x| | (x==b.x&&y<b.y);

.
’

Point p[maxn!,ch[maxn];int cnt;

typedef Point Vector;

Point operator + (Point A,Point B Point(A.x+B.x,A.y+B.y);
Point operator - (Point A,Point B Point(A.x-B.x,A.y-B.y);
Point operator * (Point A,double B Point (A.x*B,A.y*B);
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Point operator / (Point A,double B Point(A.x/B,A.y/B);

int dot(Vector a,Vector b
a.x*b.x+a.y*b.y;

int cross(Vector a,Vector b
a.x*b.y-a.y*b.x;

int length(Vector a
a.x*a.x+a.y*a.y;

int ConvexHull(Point *p,int n,Point *ch
sort(p,p+n);
int m=0;
int 1i=0;i<n;i++
m>1&&cross(chim-1/-chim-2],pli/-ch[m- <= m--;
chim++ =plil;

int k=m;
int i=n-2;i>=0;1i--
m>k&&cross(chim-1/-chim-2],pli/-ch[m- <= m--;
chim++ =pli];

n>1) m--;
m;

int almaxnl,n,r,sz,ans,vis ;

void dfs(int p,int dep
dep==n
int sum=0;
int i=0;i<n;i++
int j=0;j<i;j++
int x=alil,y=alj;
sum+=length(chly|-ch[x]);

ans=max(ans,sum) ;
’
int i=p+l;i<sz;i++

aldepl=1i;
dfs(i,dep+1);
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void dfs2(int p,int dep
dep==n
int sum=0;
int i=0;i<n;i++
int j=0;j<i;j++
int x=alil,y=alj;
sum+=length(chly|-chix]);

ans=max(ans, sum) ;

’

int i=p;i<sz;i++
aldepl=i;
dfs2(i,dep+1);

void solve(int x,int y

n=x, r=y;

ans=0;

cnt=0;

int i=0;i<=r;i++
int j=0;j<=r;j++

i*i+j*j<=r*r
plcnt++=Point(i,j);
plcnt++=Point(-1i,j);
plcnt++=Point(i,-j);
plcnt++=Point(-1i,-j);

sz=ConvexHull(p,cnt,ch);
dfs2(0,0);
printf("ans[%d][%d]=%d;\n",n,r,ans);

int main
// freopen("1.out","w", stdout);
int i=1;i<=8;i++
int j=1;j<=30;j++) solve(i,j);

B - Mask Allocation

Solved by gxforever.
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D - Fake News
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H - Dividing
Solved by nikkukun & gxforever.

goog

00 Legeng Tuple 0 OO
1. (1, kO
2. 00 (n,kOOODO (n+k, k)OO
3. 00 (n,k)ODOODO (n*k, k)OO

00 $NK$OQO O OO $1\le n\le N,1\le k\le K$ O OO0 O Legeng Tuple[] $N,K\le 10™~{12}$
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1. 000 ** 0000000000 p*k
2. 00000* 0000000000 p*k+1

000 $\sum_{i=1}"{k}(\Ifloor\frac{n-1} {i}\rfloor+\Ifloor\frac{n} {i}\rfloor +1)$ QOO O OO OO DO
000000 $\sqrtn$ 000 OO0 $0$0 $1$0

oot

https://wiki.cvbbacm.com/ Printed on 2025/08/25 03:40



2025/08/25 03:40 5/5 20200 0000000000000

nikkukun

gxforever

Potassium
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